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Section 1 - Paperl-English Language

1) Select the correct option.

You are nothing but old orthodox man.

A

*  Techofworld.ln

22

D

2) Fill in the blank with the correct option.
How many are in your school bag?

A) eraser
B) pencil
C) books
D) notebook

Read the following passage and answer the questions
that follow:

Comb honey is honey intended for consumption which is
still contained within its original hexagonal-shaped
beeswax cells, called honeycomb. It is eaten as produced
by honey bees and has received no processing, filtering,
or manipulation. Fresh, new comb is sold and used intact
as comb honey, especially if the honey is being spread on
bread rather than used in cooking or as a sweetener.
Before the invention of the honey extractor almost all
honey produced was in the form of comb honey. Today,
most honey is produced for extraction but comb honey
remains popular among consumers both for eating 'as is'
and for combining with extracted honey to make chunk
honey. Hobbyists and sideliners can develop their
beekeeping skills by producing comb honey, which takes
more rigorous attention to beekeeping than the production
of extracted honey. Because of the more demanding labor
involved, comb honey has greater retail value than
extracted honey. ($17/pound compared to $6.50/pound
US). Comb honey production is more suitable for areas
with an intense prolonged honey flow from eucalyptus,
alfalfa, alsike, and yellow clover. Wooded areas are not as
suitable for comb honey production, as bees tend to
collect more propolis, making the harvesting of comb
honey more difficult. This problem has been largely
circumvented with the adoption of specialized frames,
such as the Ross Round frame, which prevent
accumulation of propolis on saleable units. Populous
honey bee colonies are usually reduced to single hive
body at the beginning of the honey flow when one or more
comb honey supers are added.

Comb honey can either be produced in wooden sections,
shallow frames or Ross Rounds. The successful
production of comb honey requires that the hive remain
crowded without inducing swarming. Young prolific
queens help rapid colony population expansion with less
likelihood of swarming. Caucasian honey bees are often
preferred for their tendency to keep a constricted brood
nest and for their production of white wax cappings,
making more attractive honey combs.

3) One of the uses of comb honey that can be used is?

A) Sweetener

B) Condiment

C) Flavouring agent
D) Spice

4) Specialized Ross round frames are used to

A) reduce swarming of the hives

B) provide favourable environment to the bees
C) help the bees to produce white wax cappings
D) prevent accumulation of propolis

5) Chunk honey is made by

A) harvesting comb honey made by Caucasian bees
B) extracting comb honey from shallow frames

C) collecting the honey flow of yellow clover plant

D) combining extracted honey and comb honey

6) Caucasian honey bees are often preferred because
they

A) don’t expand their brood nest

B) don't collect propolis

C) secrete top quality honey

D) adapt quickly to Ross round frame

Techofworld.In
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7) Comb honey is more expensive than extracted honey
because of

A) the organic value of comb honey
B) the hardwork involved in beekeeping
C) the comb shape

)

D) its chunkier taste

8) Select the correct form of verb from the given options.
| am very happy, my favourite singer

tomy
city next June for a concert.

A) will be coming

S Techofworld.In
C) is coming

D) would be coming

9) Choose the most appropriate similar meaning word:
NEUTRAL

A) Prejudiced
B) Involved

C) Unbiased
D) Predisposed

10) Find the most appropriate opposite meaning word:
EXODUS

amgaion | @chofworld.In

)

B) Influx
)
)

Restoration
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7) Comb honey is more expensive than extracted honey
because of

A) the organic value of comb honey

B) the hardwork involved in beekeeping
C) the comb shape

D) its chunkier taste

8) Select the correct form of verb from the given options.

| am very happy, my favourite singer

tomy
city next June for a concert.

A) will be coming

B; will come TeCh OfWO rld .
)
)

C) is coming
D) would be coming

9) Choose the most appropriate similar meaning word:
NEUTRAL

A) Prejudiced
B) Involved

C) Unbiased
D) Predisposed

10) Find the most appropriate opposite meaning word:
EXODUS

A Techofworld.In

C) Restoration
D) Return
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Section 2 - Paperl-Education and General Awareness

11) For the first 10 years of education, which of the

following breakup was proposed by the National Policy on
Education, 19867

A) 5+4+1
9 442 Techofworld.In
D) 6+2+2

11) geIfl 10 Q¢ QIR FFUIQ 69Q 69@ 2D, AIRARIR IRT &R
4geaas, 1986 9101 g2IQe 62IngmI?

A) 5+4+1
B) 4+4+2
C)5+3+2
D) g+2+2

12) Which of the following is NOT a mandate of University
Grants Commission in India?

A) Serving as a vital link between the Union and state

governments for primary and secondary board of
education

B) Monitoring developments in the field of collegiate and
university education

C) Advising the Central and State governments on the
measures necessary for improvement of university
education

D) Determining and maintaining standards of teaching,
examination and research in universities

12) BOAQ 6266 geds 914d aFiaea QIdy ge< ?

A) gefie 6 ArRFS J91 9889 OIR, 69918 8 QIEY ARIR
QI6R goead AN 6321 gaIQ @aQl

B) 2uiaql v 39Reueg 8a1 QIdig 9Fw Q Iald Ha1RE
@Gl

C) 398auina 891 60 QI Q1 AIR 695 IS° QAIFY ARG
AR 9LI 96!

D) Qadayina 62 A9, ORI 6 F698€I Q 20 Q AGRFE KQS
3 FEIRG @84l

13) Trachoma is an infectious disease which affects the

A) Ears
B) Larynx
C) Eyes
D) Brain

13) QIERIAI 48 AGIAR 6AIE AL Q 2IgA8 @RI

A) Qi@
B) o
C) aig
D) aga

14) Which of the following writs mean "You may have the
body'?

A) Habeas Corpus
B) Quo Warranto
C) Mandamus

D) Certiorari

14) G¢) 6Q qE9 AU FRIA 212 6298 'Y 67 2] @ /&7

A) cadaq @dq
B) s@yl gloussl
C) ailgiag

Techofworld.l

D) sageaid

15) Which of the following commissions proposed, the
aims of university should be to produce able citizens who

can take up national responsibilities successfully in
various fields?

A) National Commission of Education, 1986

B) National Commission of Education, 1968
C) New Educational Policy, 1986

D) University Education Commission (1948-49)

e ares
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Section 2 - Paperl-Education and General Awareness

11) For the first 10 years of education, which of the
following breakup was proposed by the National Policy on
Education, 19867

A) 5+4+1

w2 [@achofworld.In

)

)
C) 5+3+2
D) 6+2+2

11) geiel 10 9F QIR FelFUQ 699 69@ 219, AIRLIR ORd 2
4R6RAR, 1986 FII 9IS 62IRgMI?

A) 5+4+1

)

B) 4+4+2
C) 5+3+2
D) g+2+2

12) Which of the following is NOT a mandate of University
Grants Commission in India?

A) Serving as a vital link between the Union and state
governments for primary and secondary board of
education

B) Monitoring developments in the field of collegiate and
university education

C) Advising the Central and State governments on the
measures necessary for improvement of university
education

D) Determining and maintaining standards of teaching,
examination and research in universities

12) AqQ 6098 gRedE 919Q fAdaa @Iy 6% ?

A) giefie 6 aréie §91 0G8e AR, 6918 6 QIFY AARIR
ARI6R FQEIE AR 6291 gIIR GRS

B) 21091 99° f9Fquea 49l QIdign 96 @ Arld fa18e
alala

C) 39524192 891 6@ IR FERI UIR 689 ¥8° AIFY ARG
AGeERI goIe 98Q!

D) GgaQuina 6Q S, AQ18I 6 F6934 @ 99 @ gA8d @aa
8 ARG A0S

13) Trachoma is an infectious disease which affects the

A) Ears
B) Larynx
C) Eyes
D) Brain

13) QI6RIFl @ A°GIAR 6l AITI Q 2IgAE @Gl

A) qie
B) aqi
C)agy
D) ags

14) Which of the following writs mean "You may have the
body'?

A) Habeas Corpus
B) Quo Warranto
C) Mandamus

D) Certiorari

14) G¢) B9 & AUQ FRIQ 2 6268 'Y 69 2] & Q&7

A) cadeq @dq
B) eavyl glques
C) alginq

D) 62561

Techofworld.I

15) Which of the following commissions proposed, the
aims of university should be to produce able citizens who
can take up national responsibilities successfully in
various fields?

A) National Commission of Education, 1986

B) National Commission of Education, 1968
C) New Educational Policy, 1986

D) University Education Commission (1948-49)
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15) G¢ *AQRAIeE QIQ @ IR 69R26R 64 SITMIRAR
A 6291 ASE 64 YOG FITER GG 69Q Cl6R FRR 68969
QG190 QIFQ Q IOIQ Q6U PRIR AIAES?

A) IQRIR FFAE 2T 1gERAR, 1986 Te @ h OfWO rl d ) I N

B) quacia @Ade g Ngeade, 1968
C) 3g 1g6aaaia 9Rd, 1986
D) g3edd 1geadas @dae (1948-49)

15) Q¢ @ARIRE R @9 g9 6QR06m 6d QIMIRAQ
ARy 6291 QTS 69 IR PR FFQI 69R FI68 SRR 68969
FG1R QIEQ Q YOIQ 6T PRIR AIRER?

QUIARIRN KR 2EF 1gEadR, 1986 Te # h Of\}

)

) IARIM AR SF 1GERAR, 1968
) B NgERYaIn 9RG, 1986
)

B O W

QRed0 1geaae QAaa (1948-49)

JoinUs-' > f
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Section 3 - Paperl-Reasoning

16) Instruction:

In the following question, mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4. if the question can't be answered at all.

How is Helena related to Abrian ?
Statement | : Bruce is the brother of Abrian.
Statement Il : Abrian is Helena's brother.

A) 3
B) 1

o, Techofworld.In

D)2

16) FERGINRT FARYS gg6a
1096 @9 98 6097 A8QY | AILINER 49 Qaa F2IIRAIQE
|

2 396 @0, 99 6297 F12QY || AL6QITER 99 aan FaKIa
UQE |

3, 9@ @@ | 9Q° || AL6UITHR J99 K69 TR AIRE |
4, 98 g99 289 5269 & G2IAIR UGS AIE |

2I52Ie 2 626AAIR AT QE ?

a3QY1: 99, AFAR AR |

89y |1 AIFEQ 6298 626ARIR 6! |

A) 3

B) 1

C)4
D)2

17) What is the time taken in seconds by a 180 m long
train travelling at a speed of 270 kmph to fully cross a
milestone?

17) Q€IGE 270 FRINGR 69962 9@ @92Q1 180 fiea @1d 9e
667 4@ FIRACRIR A5G AEQIR (REE 6A6RE 6797

A) 3.3
B) 2.7
C)2.4
D) 2

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All smartphones are phablets.
No phablet is tablet.

Conclusions:
I) No smartphone is tablet.
I1) All phablets are smartphones.

A) Only | follows

B) Only Il follows

C) Both 1 and Il follow

D) None of the conclusions follow

Techofworld.In
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Section 3 - Paperl-Reasoning

16) Instruction:

In the following question, mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il.

4, if the question can't be answered at all.

How is Helena related to Abrian ?
Statement | : Bruce is the brother of Abrian.

Statement Il : Abrian is Helena's brother.

L e
N oA =W

Techofworld.In

o 0

16) F6L9INRT: FARYS Tg6Q
1390 @9g 9 6297 71894 | AIRILIER J49 989 G2IQIRAIQE
|

2 026 99g, 46 609R Ry || AL6ITER J4Q Qe GaIIR
IQF |

3, 99 @K | 99° || I6RITER 990 269 SR AIQE |
4, 96 949 906 6969 § FuINIR 9fe AIF |

2I52IR AL 661 AT Q) ?

sy |: 99, 2R AR |

aAeQy 1 : AFUR 6TRE 6TEARIR QAR |

gom2
N B = W

17) What is the time taken in seconds by a 180 m long
train travelling at a speed of 270 kmph to fully cross a
milestone?

A) 3.3
B) 2.7
C)2.4
D) 2

17) 9993 270 FAINEQ 696160 9F @9e)el 180 Fea a1d 9@
66] ¥R FINREII] 287 FRRIQ 6R6E 6I6RE 677

A)'33
B) 2.7
C)2.4
D)2

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All smartphones are phablets.
No phablet is tablet.

Conclusions:
1) No smartphone is tablet.
Il) All phablets are smartphones.

A) Only | follows

B) Only Il follows

C) Both | and Il follow

D) None of the conclusions follow

Techofworld.In
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18) FELAIART C6R QLIRS AL Aag @8 7

QAYRE | 2AET FAARYR! AR AGY QIR FIFIG AT
Q93 Q@ L ARIKEER RIS S2OIQ R QIR | AN
Fedq 009 9e° QII6a 598 Gug, duaIRYQl dad aug
6RC ARIEER RGNS 2R ZKRR AR AR OR
QU6 AGARE F9E |

A2QY: Qg 9IF 6TIQ FER TINEAY | 614 TIERYF CIFERT
Q6 |

aad:
) 6163 YITETIR CIRERT G6 |

Il) A TINEAQ Go@ FITETIR |

A) 62e% | 2908 0

B) eaaq Il 2904 @99

)
)
C) @@ | 99° || 29998 @98
D) 6xl61d @ Gdiag 2GAad Kag AIE

19) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some wallets are watches.
Some watches are belts.
All the belts are shoes.

Conclusions:

I) Some shoes are watches.
Il) Some belts are wallets.

Ill) No belt is wallet.

IV) Some watches are wallets.

A) Only | and Il follow

B) Only Il and IV follows

C) Only Il and 11l follows

D) Only I, IV and either Il or Ill follows

19) F6RFIAR!: G6@ CUIAIRYR F18QY A8G 78 Fad FAARE |
Iy SALIRAQ 18947 ARY 691R AIFQIg 9GS 9838 § el
QARIBEER FEIZR GLOIR BR QHIAIRAN | ANS FILQ TLY
49" 0I06a §9E fag, FRIKRgel Fad AR 6968 AXIEER
SEIQI A RAINR AR 124 O RIS 2GS F9E |
FI8QY: 98 YIENG 626E Al | 38 Al 6908 6QRC | 49 69RS
6@ 615! |

aad:

) @F 6910 Qe Qi |

1) @R 69NG 6208 aENE
IIl) 67163 69RE GI6RY G6% |

IV) @8 Q€I 6928 6T |

A) a1 9Q° 1l 290 @9 |

B) caaq Il 9° IV 29904 @03 |

C) 6aaa Il 9° Il 29048 @6 |

D) e@am |, IV @° 1l @QI 111Q 6915 2ga0€ @0g

20) In a certain code language COLORADO is written as
NMJMPYBB. How is CREATION written in that code
language?

A) MPCYTGMB
B) BPCYRGMM
C) MPCYRGMB

)

D) BPCYTGMM

20) @ FRe A6eEe A18i6a COLORADO @ NMIMPYBB
GIER EMGIKIGE | 648 l6won @TIEa CREATION @ @&
ERYER?

A) MPCYTGMB
B) BPCYRGMM

)
)
owereave  Techofworld. |
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18) F6adIaR1 067 G2UIRYQ F18QY 8] 7F Fad

QLIRS | 2Kdg QAUAIRRI FIRMF ABY 61N FIGAlg A6
208 & 92 ARIRGER 4Rl FA0IR G sadIRIGaN | AL
Fadq geg 1e° 0Kase Gea Gag, duKIRYQl fad AUy
6QGG1 ARIBGEA KEIRQ G2R AT *QR F1BMQ OR
Q169 AGAAE KQF |

F13QY: 49 9IF 6TIQ FoR TIREAT | 6T TIFERG TINERT
Q64 |

fad:
1) 691613 QITETIR FINERG g6 |

Il) Qg TINERT FYER AITETI] |

A) 6297 | 29904 @09

B) eaaq Il 2990d @03

C) ama 1 9e° || 29994 @98

D) 6ql6d @ GIaq 2908 @ag Q18

19) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some wallets are watches.
Some watches are belts.
All the belts are shoes.

Conclusions:

I) Some shoes are watches.
II) Some belts are wallets.

III) No belt is wallet.

IV) Some watches are wallets.

A) Only | and Il follow

B) Only Il and IV follows

C) Only Il and Il follows

D) Only I, IV and either Il or Ill follows

19) FERAIART: 067 QRULIREYR| (BN 98 @8 Fd 2SS |
2Igdg GRS 1YY IS 6QIR IFQIg 9Ge Afs § @l
QARIREER FEIR BA0IR §R cRSINIRAN | AN Fady aeg
98" QI06Q G9R Gug, QUIKINYR Fad F1IQ ARSI ARIFIER
61 SR AT 2RI 78RR OR VIS 2QARE @& |
A18QY: @8 G6nQ 6208 A9l | 38 QA9 6268 6onE | Ag 69RS
Q@ 6F1a |

aad:

) &8 62151 goe Al |

) GF 69me 6228 GIERG
IIl) 6141Q 60RS Gl6NT Q62 |

IV) @8 991 6298 QKNG |

A) 60aR 1 99° 11 2GA08 K9G |

B) saqq 11 99 IV 2920d @6g |

C) 6aa@ Il 9a° |l 299948 @0g |

D) e@am |, IV 9e® 1l @q1 111Q 6515 29208 298

20) In a certain code language COLORADO is written as
NMJMPYBB. How is CREATION written in that code
language?

A) MPCYTGMB
B) BPCYRGMM
C) MPCYRGMB
D) BPCYTGMM

20) 9@ Gog Qeede wigisa COLORADO @ NMIMPYBB
QIER 6MHIUIRE | 69T Cewda QISIEa CREATION q @a&
ERGER?

A) MPCYTGMB
B) BPCYRGMM

owereave Tachofworld.l
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Section 4 - Paperl-Teaching Aptitude

21) A child creates his own concepts and knowledge
based on the information he gets from outside sources.

This means that he learns through the method of

A) rote learning

B) memorization

C) construction of knowledge
D) creation of knowledge

21) 564 S4Id1 QILIA AAQ I G2 2RIIFER TR AU G
BI Q& Q6R | 12IR 212 6d 67W 906 YT ?

A) saiEql TeCh OfWO rld . I N

)
B) 904 g
C) gie 0% aaa!
)

D) gie @ge ad<!

22) Which of the following agencies of education should
set ideal examples of co-operation, fellow-feeling, social
service, sympathy, sacrifice, tolerance, friendliness etc.
before children to emulate and imbibe them for the

development of their personality and the well-being of the
saciety?

A) Community
B) Library

C) Radio

D) Museum

22) §QIQ F6qI8 AIGFR FQ 6966 IRRIGE 2IG6a 1geq
dIRe AASI ¥e° g8 *GQI Free ATEQIT, Qe QLR AFIFR

6491, AFERLF, 4I5, ARFS, IO RGHIRR AIRE QVILAE FIAR
@oRI Q0Q?

A) aqe

B) aloigi@

D) argeiae

)
e%  Techofworld.In
)

23) Which of the following is NOT one of the foundational
skills of language (English) learning?

A
B

Cc
D

Writing
Listening
Reading
Understanding

— —

23) G698 F1UQ 6290 QIS (R°AIFT) FAQ 6F1R KR G6w?

A) 6ags

w
eﬁ'

)

)
C) age
D) g2al

24) Read the following statements and choose the
CORRECT option.

(i) The formal kind of education can be scientifically and

consistently provided to a large number of children
simultaneously.

(i) A new concept of distance education known as m-
learning is a mode of formal education.

A) (i) is FALSE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE

C) () is TRUE and (ji) is TRUE
D) (i) is TRUE and (ii) is FALSE

24) G618 QY gog 96g 99° O 998 008 K|

(i) AR gRIea 44 TR ARG 9e° FR2q VIR
NRPIPIR YRRINS 9F IR JGT 9T FUAIRAFS

(i) 9F1-99° QUFER &GS 99 FRIQ IR GOF AU
AagIee IR @ I

A) (Ham e (i) @R
B) (i) @@ ge° (i) 0K
C) (i) OR " (ii) O)
D) (i) ) e (ii) g
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Section 4 - Paperl-Teaching Aptitude

21) A child creates his own concepts and knowledge
based on the information he gets from outside sources.
This means that he learns through the method of

A) rote learning

B) memorization

C) construction of knowledge
D) creation of knowledge

21) @66 Q4K QIRIQ QLY JI9 G2 2RIFER AR ARG 3
HIP 98 Q6Q | IR 2e] 62 676 ATEEA HYS ?

A) saidal

B) a4 agsl

C) 218 908 269!
D) 219 9% /44!

22) Which of the following agencies of education should
set ideal examples of co-operation, fellow-feeling, social
service, sympathy, sacrifice, tolerance, friendliness etc.
before children to emulate and imbibe them for the

development of their personality and the well-being of the
society?

A) Community
B) Library

C) Radio

D) Museum

22) d9IQ G679 AR RIQ 6095 TRFIGT IR 196q
ARG K69l ¥S° gad @Gl FrI6s 4LsI, Qi1 QIRA, AT

699, AFELRR, D419, AAFS!, 99T RVYIAR ARE ANILRE AR
@GRl @GQ?

A) aq@
B) aiokia

&) cae Techofworld.In

D) a°gzina

Techofworld.In

23) Which of the following is NOT one of the foundational
skills of language (English) learning?

A) Writing

B) Listening

C) Reading

D) Understanding

23) Gerllp AR 69R0 VIS (R°AIRT) JTIQ 6AIRR 6RlIR GeL7?

A) eagQl
B) gdial
C) agel
D) g&al

24) Read the following statements and choose the
CORRECT option.

(i) The formal kind of education can be scientifically and

consistently provided to a large number of children
simultaneously.

(i) A new concept of distance education known as m-
learning is a mode of formal education.

A) (i) is FALSE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (i) is FALSE

24) feqliv QR goq 993 ¥a° 0] 99e o0e Qogl

() GagIaa 9aIee §8 TRIF ARG 9S° HAIQ AER
IRRIPIR IR 9F A°HQ dga IR FALRTR

(i) 961-RE° QIRER PG4 G0 FAIQ 9@ QER ARSI
Aacide d919 9@ 99

A
B

) (i@ 9" (i) am
) (i) @@ 9e° (i) O]
C) (i) Ox e (ii) Ox
D) (i) OR 9e° (i) @@
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25) In order to reach at behaviour

modification, the
teacher should

A) ignore all wrong behaviour

B) encourage the wrong behaviour
C) check all wrong behaviour

D) not be bothered at all

25) 2904 9R9ER 989, 9% A4 A5l @5 ?

A) G018 gm 2IGRER AG6Q% FE6S
B) gm 21964 QIR RAIFTE @66

C) ang gm 2I5ad] 00 @F6
D) 21671 330 6267 @18

26) Which of the following options is INCORRECT with
reference to the development of negative traits in students

due to the long term and insensitive use of corporal
punishments in schools?

A) Loss of interest in learning

B) Fear and anxiety

C) Social misconduct

D) Higher academic performance

26) GUIRCER QUQRIN DEFZIG 9&° AU6ENEIR SIEe
Q99 QIGE 6Qlg FMIFAIRE FUER RIS AVIQ RIS
ARREQ GYFIQ 679 FRET g 21667

A) Q1095166 @3 2RI
B) @2 ae° ageel

C) an@e 9aIeia

D) apea 38190 gade

27) Why are traditional teaching methods followed in the
rural and government schools?

A) Traditional teaching methods strain the students

B) In traditional teaching methods teacher requires
special technical knowledge

C) Traditional teaching methods use a LCD projector in
the classroom

D) Traditional teaching method is cheaper than the
modern teaching method

27) QI8 8 AR FMIRAGENEA ATG ARHFR FTIQIR
NG AGARE FRUA?

A) Qosiaie dR19Ie ad dAKIKIRG 2IY AT6R 1T AQrd

B) aoeide daee aetea deag F669 60QRFIm RIGQ
2S4S 621N |

C) aioiae daeis 08SgEaa 68619960 RdE 69690
QQTIQ UL

D) aioeite dQIeie 983 2GR ARG 983 OIg 4

28) Which of the following options is FALSE with
reference to the aims of education in India as formulated
by Secondary Education Commission in 1952-537?

A) Development of Democratic Citizenship

B) Improvement in Adult Female Literacy Rate
C) Improvement of Vocational Efficiency

D) Development of Education for Leadership

28) 1952-536@ fllifie 991 @899, F191 999 RURGER JIR
R 69560 G671 AR 674 FRIFFD GRN?

A) GEPIES FIUERER TR
B) cor a@ql 2Inas! 218 9F
C) Qg oBeIen ane

D) 60gQ G6e 4910 Q14

29) The concept of self image and self worth was given by

A) Edward Thorndike
B) Abraham Maslow
C) Howard Gardner
D) Carl Rogers

Techofworld.In
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25) In order to reach at behaviour modification, the
teacher should

A) ignore all wrong behaviour

B) encourage the wrong behaviour
C) check all wrong behaviour

D) not be bothered at all

25) 2Ieed A6 98, aw @8 9a9l 5] ?

A) aAg gn 2I008q 296Q% AR6Q
B) gf 21004 QIR 9IZe 996

C) 2ng gn 2I00dg SX1a% aG6Q
D) 2l6< 580 6269 @18

26) Which of the following options is INCORRECT with
reference to the development of negative traits in students

due to the long term and insensitive use of corporal
punishments in schools?

A) Loss of interest in learning

B) Fear and anxiety

C) Social misconduct

D) Higher academic performance

26) GRUIRUEHR SYeTIa GIEARIR e AAEReRdTR dIeiGe

Qelal QA Gﬂlﬂai SR F1269 FRANS AYEIQ R4
ARE6a AR 606 GRET gm 21697

A) Q1095166 QF FalRS!
B) @0 1e® ages!

C) air@e gaioia

D) aeea dgisie gada

27) Why are traditional teaching methods followed in the
rural and government schools?

A) Traditional teaching methods strain the students

B) In traditional teaching methods teacher requires
special technical knowledge

C) Traditional teaching methods use a LCD projector in
the classroom

D) Traditional teaching method is cheaper than the
modern teaching method

27) gIFE B ORI FMIRAGERER TR AR FAINS
deG 2AGARE FRUAN?

A) Qeiae S8IGIe ORE FUIERIeE 2IY AU6R SIT AFN

B) aogiee dacie aedeq Jueg Q689 60R@In RIS
24D 62192 |

C) apiae d8IQIe 0adgPesa 69416260 RAE 67I68RQ
QIR RN

D) aie¢tite d919ie 088 2rEe SRIRIR 986 0IQ §2

28) Which of the following options is FALSE with
reference to the aims of education in India as formulated
by Secondary Education Commission in 1952-537

A) Development of Democratic Citizenship

B) Improvement in Adult Female Literacy Rate
C) Improvement of Vocational Efficiency

D) Development of Education for Leadership

28) 1952-5369 IR dQ1 @R, FIRl Y90 QUALER N
RAY 69GER FEQID Y 676 RPN N2

A) SEPIRR QINERAR RIS
B) eoa 0@l Qs 2 9F
)

)

C) QR omeIsa @96
D) 609Q Gaea daiq 318

29) The concept of self image and self worth was given by

A) Edward Thorndike
B) Abraham Maslow
C) Howard Gardner
D) Carl Rogers

Techofworld.In
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29) &IF) 8% G A MR AVIRE @ gl @Qgem ?

A) 9gaig 2<eRR TeCh OfWO I'|d ; I

B) ager agsal
C) 621909 9160Q
D) aim QIR eq1ed

30) Which of the following options is TRUE with reference
to the tool/technique called 'Force field analysis' applied in
a school environment?

A) It is a budget management tool that the schools can
use to manage their infrastructure requirements

B) It is a change management tool used to motivate
people towards change and understand resistance

C) It is a useful time management tool which helps in the
analysis of the school time periods

D) Itis an analysis tool that helps in analysing a student's
calibre and provides feedback for improvement

30) FIRUEQ NILIQ FAULINYR| RUFRE/6RNIR QIR ‘61T
Fae 2RI’ QRIAN, 69 ARNEA FYAUQ 699 Ieed A0
2l6e ?

A) 921 ¥R YA G 2 ARG AR AT FNRAIRR
6Q7IRE 6@ A°QER| 2IGIRG! JARIRAIER LTI FRElId

B) 92l 9@ 95QeR 00IRR 6XldR QITI] EAIKFAINT JRSRR
219q 6900 @RI 9° gPsarq 989 IR LTI KUK
el

C) 9@l 9@ QU6 AL AN 6Ql6e UIRIG FQUILAR
ANAACN F69996Q ALIAY Q6Q

D) 2149 6484 6919 QILIE FUIIFIes AIRel F6g8969
QAIQIQY A6Q 9G° IR AR ORI GLIF F6Q
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29) 2IF) 89 6 2L MR ARG §4 QIR [QER ?

A) 1ged adeRs TeCh OfWO I'| d . I N

B) ager ageml
C) 62190 9IeRQ
D) aim QIR 6aied

30) Which of the following options is TRUE with reference
to the tool/technique called 'Force field analysis' applied in
a school environment?

A) It is a budget management tool that the schools can
use to manage their infrastructure requirements

B) It is a change management tool used to motivate
people towards change and understand resistance

C) It is a useful time management tool which helps in the
analysis of the school time periods

D) Itis an analysis tool that helps in analysing a student's
calibre and provides feedback for improvement

30) ANIFAER MITIQ FAULINYR QAR /6@ISR QILIG ‘6
INe 2FINAA' QRIAN, 64 ARWEQ FYAUR 69w Feed A0
268 ?

A) 921 9@ MG B I AAFIRF| 6AER ALR FNIRAYER
6A7IRE Q@ L°90! 2IRGIRT! JAFIPRIER URLIR PRI

B) 92l 9@ 0898 JA0IRG! 6R14R IRI] 6RINAIRG IRQRR
2199 6900 ARl 9e° gosakIq 9ER! 1R LTI KR
2l

C) w2l 9@ Q6191 QAL ANl 6alde IR FURAR
ANQAIC F6gTE6Q ALIY K6Q

D) 921 49q 36496 6197 QLI SQUIIRIee AR F64I86Q
QIPIAY B6Q I9° QIR AR ORI FAIF V6Q
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Section 5 - Paperll-Odia Language

31) Qa9 QI0'- 9@5a 2d @4 ? 35) FORYS FUQ 69 AUATTY CAIFEIER ‘UG’ I0ta Fa
2eg 9eIRe ?

A) QI0 QIRIER QLY

B) a¢ Q0% @If A) g8

oween  Techofworld.In 2

wnen  Tachofworld.In °

D) qge @i ) &g

D) aau

32) FORYE ARG 69UG 9 6FG g ?
36) AIAYS AUIQ 694G ‘@9l 990 FANG 99 ?

A) da

) e A pared

C) asa B) ag

D) peica C) ared
D) @

33) GORYe g 6ReS AW Io@ UG IoUD 6o ?
37) SIRYE FIQ 6966 99 0Q A7 R 2166 ?

A
wa tpeg
- C) @o
& D) 210
D) 4 ) d@iQ
A S (P, A— 38) GOAYQ IR AIQ 699 999 ' @ ' 94T 29713 g6w?
918l §94 A9 o8 AR | A) o
A) gmal i
C
mace | €@ChOfworld.In ) 066
C) gaeal D) o
)

D) @igal
39) 6Q @A AIg ‘2" @ e 4K ?

A) gal @3S
B) ai@a

C) ade @qal
D) ai@al

Join Us-
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Section 5 - Paperll-Odia Language

31) ‘RI0RQ Q10— Q@da 22 @'a ?

A) Q10 QiIa6a @Iy
B) @@ @0g QIa1

ownen  Techofworld.In

D) aeg @

32) FORYE AR 6996 99 6FC 9% ?

A) da

B) gao@
C) ama
D) yeiiGa

33) AINYe AUQ €RUS QMR JoR dIg geid 26 ?

A) 2l
B) aq
Ca
D) 9

34) ANLER 60T @2 2T | FINGS 9@ g A0Q S8
210l §7Y 91 998 @9 |

A) gRQl

B) aical TeChOfWOI'|d . I n

C) gaal
D) qigQl

35) GORYE (IR 696 AUANETY 6UIFEIER ‘VQ° IRTR FUE
2dq 9uIRe ?

A) 9B
B) g

C)ag
D) asu

36) FORYE FUQ 69R5 ‘A4 4R FANNG 4R ?

A) 2
B) a%

C) aegd
D) axj@

37) GARYS FUQ 6996 e 6] IF IR 26T ?

A) Q@
B) @6
C) zio
D) gwia

38) GAAYE 99 ARIQ 6 IRA ' @ ' 94T 2GRITR QEL?

A) oQ
B) aa
C) goe
D) ag

39) 6@ AF1 I 2R R 212 YK ?

A) gel el
B) ai@al
C) ada aael
D) agal
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40) SIAYE AUQ 6996 ‘AR’ IRA FUAIG AEIRIR §R ?

A) gae

nws | @Chofworld.In

C) gl

D) d&
41) FIAYS 629 JIULE 9@ QYA ?
A) gas

B) ad

C) 2@
D) aig

42) GORYS TIQ 6T N6RIGIAY AT 26T ?

A) FaRa
B) dae
C) 601@
D) g&

43) ‘9094 629! QEda ad @4 ?

A) 2990 6291
B) caqiq @da
C) 2@ 0@ @89l
D) aigeaal

44) TARYE AUQ 6966 AT’ IR AR 99 ?

A) aigie

B) cige TeChOfWOHdln

C) aqe
D) ade

45) '999' 995 69Q AIF 8 696 904Aq 699 906 621987

A) @a+@
B) q+q+a
C) ga+a+al
D) ea+a+2l
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40) YRGS FUQ 6966 ‘AR’ I06 Q1S 2EARIP 8K ?

A) gag

sws | @Chofworld.In

C)aa
D) d&

41) FIRYE 696 JIUaT 1@ AR ?

A) ges

B) 2@
C) 2@
D) eig

42) GIRYE F12Q 68416 7169194 F6aSY 2168 ?

A) IR
B) dae
C) 651
D) g&

43) ‘99q8 6291 9aca 2el @' ?

A) agae 629
B) qeqin aaQl
C) 2@ @b @29l
D) gigeaql

44) GARGE AR 6RE6 URR’ Faa AANER d0 ?

A) aigne

B) cige TeChOfW0r|d|n

C) sge
D) a@e

45) '9RQ" 985 6a9 AIg 8 69 JoIAQ 69R 06 621987

A) Ga+Q
B) q+q+@
C) on+a+a
D) ae+Qi+g
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Section 6 - Paperll-Mathematics

46) A sum of money doubles itself at compound interest
in 5 years. In how many years will it become 8 times?

A) 15 years
o Tachofworld.In

D) 20 years

46) 6915 A 9F9E PISA 59T6a FYIC T4, 6969 6R69
Qdea 12l 8g 6297

A) 15 Qg
B) 10 od
C) 18 od
D) 20 @@

47) Let N be the greatest number that will divide 305, 665
and 905, leaving the same remainder in each case. What
is the sum of the digits of N?

A) 5
B) 3
C)6
D) 4

47) 9@ 305, 665 98° 9059 GRIRS K9elRl QR QI N 4e°
2l geeYR €U96R QAR RINEIY QFeIMI QI 626m NQ
UG PR AT 6667

A) 5
B)
C)e
D) 4

w

Techofworld.In

48) If 325 car models have automatic transmission, 216
have power steering and 89 have both, then how many
car models have at least 1 of the features?

A) 452
B) 523
C) 352
D) 432

48) Q3@ 325 § QI F16eM6a 2651675 QIgAAR aF, 216 § 6

Qlgia 8256 28 6 89 66 Qe 88, 606Q 6R6HIT QIR FIEEMER!
20 a96Q 1 G 6aaay 2g?

A) 452
B) 523
C) 352
D) 432

49) If x+ y =4 and 2x - y = -1, then the value of x, y are

A) 1,4
B) 1,3
C)1,5
D) 4,1

49) 9@ x+y=4 and 2x-y =-1, 6669 x, y @ fja4 6208

A) 1.4
B) 1,3
C)15
D) 41
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B ey

Section 6 - Paperll-Mathematics

48) A sum of money doubles itself at compound interest
in 5 years. In how many years will it become 8 times?

A) 15 years
o0 Tachofworld.In

D) 20 years

46) 60154 O 9G9F QI6a 5ad6a §gde 99, 6069 66
Qg6a 12l 89 6297

A) 15 Q9
B) 10 @4
C)18qd
D) 20 od

47) Let N be the greatest number that will divide 305, 665
and 905, leaving the same remainder in each case. What
is the sum of the digits of N?

A)S
B) 3
C)6
D) 4

47) 9@ 305, 665 9° 9059 FRIEe KA QRN QW N 9e°
21 geeYe 69960 AR QIBEHE agaNl SRl 626 NQ
AT e ANE 6R657

A) 5
B)
C)6
D) 4

w

Techofworld.In

48) If 325 car models have automatic transmission, 216
have power steering and 89 have both, then how many
car models have at least 1 of the features?

48) 9§ 325 G Q19 16eR60 26516750 Igfide aF, 216 § 62
dIgiq 2Rk 21 8 89 60 QR AT, 66 6RETIT TR FIEGREG

20 9968 1 © 6aday 2g?
A) 452
B) 523
C) 352
D) 432

49) If x+ y=4 and 2x -y = -1, then the value of x, y are

49) 9G x +y =4 and 2x - y = -1, 6669 X, y Q {}mY 6208

A) 14
B) 13
C)15
D) a1
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50) Ananth and Benaka enter into a partnership and
Ananth invests Rs. 10,00,000 in the partnership. At the
end of 4 months he withdraws Rs. 2,00,000. At the end of
another 5 months, he withdraws another Rs. 3,00,000. If
Benaka receives Rs. 9,60,000 as his share of the total
profit of Rs. 19,10,000 for the year, how much (in Rs.) did
Benaka invest in the company?

A) 8,00,000

s 20000 | @Chofworld.In

C) 9,00,000
D) 10,00,000

50) 208 9Q° 6909 Y@ QIFICIRNER Y6RE @6M 9e° AR 9Z6Q
Rs. 10,00,000 Q56019 @mll 4 €19 68969 64 Rs. 2,00,000
elel goueia @RIl 999l 514 96 64 2R Rs. 3,00,000 6!
gouIgIa aall 9d 6496Q 6907 AFRIA AR Rs. 19,10,000
U@ G @19 Rs. 9,60,000 UI9MI 6969 6996 QIR 6960
(Rs.6Q) IG6LI0 @Q2iml ?

A) 8,00,000
B) 12,00,000
C) 9,00,000
D) 10,00,000

51) If 88% of 370 + 24% of 210 - x = 118, then x =

A) 258
B) 528
C) 582
D) 285

51) 99 3709 88% + 210Q 24% - x = 118, QI 6@6m X =

A) 258
B) 528
C) 582
D) 285

52) After simplification, the expression a(a + 4) + 3a? - 2a
+ 10 simplifies to

A) 3a*+4a+10
B) 5a%+2a+6

C) 2a2+2a+10
D) 4a%+2a+10

52) AARIRQE 68Q1 6Q, AAIRRd a(a + 4) + 3a?-2a+ 10
AR Q4 629

A) 3a’+4a+10
B) 5a’+2a+6

C) 2a?+2a+10
D) 4a2+2a+10

53) Find the radius of the base of the cylinder, if its volume
is 1,03,488 cm® and height is 42 cm

A) 30 cm
B) 32 cm
C)33cm
D) 28 cm

53) 9% 9@ R4 0 994 1,03,488 6Q7° @ Qw0l 42 644 2,
606@ QIR 697 A ZS I § AL Fag!

A) 30 62
B) 32 6af
C) 33 6af
D) 28 6

54) If the ratio of the LCM and HCF of two numbers is 18
and their product is 288, then LCM and HCF of the two
numbers are respectively

A) 36 and 16
B) 72 and 4
C) 36 and 4
D) 144 and 16

Techofworld.In
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50) Ananth and Benaka enter into a partnership and
Ananth invests Rs. 10,00,000 in the partnership. At the
end of 4 months he withdraws Rs. 2,00,000. At the end of
another 5 months, he withdraws another Rs. 3,00,000. If
Benaka receives Rs. 9,60,000 as his share of the total
profit of Rs. 19,10,000 for the year, how much (in Rs.) did
Benaka invest in the company?

A) 8,00,000

s 20000 | @Chofworld.In

C) 9,00,000
D) 10,00,000

50) 292 Y8° 6950 Y@ QIFIQIAIER 96ad @6R 1a° 2ee 186a
Rs. 10,00,000 @@6QIq @@l 4 €1 6496@ 64 Rs. 2,00,000
2lel gougia @RIl 999a 5A1d 969 62 IR Rs. 3,00,000 6F
gouIgIa ARl 9F 686 69a@ QLIS AR Rs. 19,10,000
AuQ 6@ @19 Rs. 9,60,000 QIRRI 6961 6999 YHF16Q 6R6G
(Rs.6Q) @R6QIG @bigmI ?

A) 8,00,000
B) 12,00,000
C) 9,00,000
D) 10,00,000

51) If 88% of 370 + 24% of 210 - x = 118, then x =

A) 258
B) 528
C) 582
D) 285

51) 99 3709 88% + 2100 249% - x = 118, ©I' 626m x =

A) 258
B) 528
C) 582
D) 285

52) After simplification, the expression a(a + 4) + 3a - 2a
+ 10 simplifies to

A) 3a%+4a+10
B) 5a%+2a+6

C) 2a%+2a+10
D) 4a?+2a+10

52) AARIRQE 621 I6Q, AFRAS a(a + 4) + 3a’-2a+10Q
AAFIRE QU 629

A) 3a’+4a+10
B) 5a%+2a+6

C) 2a%+2a+10
D) 4a%+2a+10

53) Find the radius of the base of the cylinder, if its volume
is 1,03,488 cm® and height is 42 cm

A) 30 cm
B) 32 cm
C) 33 cm
D) 28 cm

53) 9% 9 AReQ @ A9Q 1,03,488 6Q%1® 6 Q@I 42 643 2N,
6963 GIRIA 69 @ AF NI § AR AQG!

A) 30 6afi
B) 32 6af
C) 33 e«
D) 28 eaf

54) If the ratio of the LCM and HCF of two numbers is 18
and their product is 288, then LCM and HCF of the two
numbers are respectively

A) 36 and 16
B) 72 and 4
C) 36 and 4
D) 144 and 16

Techofworld.In
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54) ga& AHYIQ RALY ¥ 9.A1.98 AQAIS 18 ¥L° (AT
QTR 288, 6662 QEE QSR M.ALG NE° 6.Q1.5 elIFEe

A) 36 99° 16
B) 729e°4
C) 36 g~ 4
D) 144 qg° 16

55) If (x+5)? = 100, the possible value of 'X is

A) -15
B) 15
C)-5
D) 10

55) 9@ (x+5)- = 100, 6969 'X'Q ARIM RY 6208

A) -15
B) 15
C)-5
D) 10

56) What is the side of a square, whose area is equal to

the area of a rectangle whose length is 20 cms and
breadth is 5 cms?

A) 15 cms
B) 10 cms
C)5cms

D) 20 cms

56) 9% Q6 JITIR 6RGTR 20 647 636 6 5 697 g4 F91 1R
2INGERGE 69gTe 436 AFIR, FITIA QI 6068 6297

A) 15 6
B) 10 eafi
C) 5 6ad

D) 20 6

Techofworld.In

57) If set A has 3 elements and set B is a null set, then
how many elements will be there in their intersection set?

57) 94 699 A @ 3 & QIQIG 21F @ 636 B 4@ $IR 697, 6069
640G 689 6906 6R60IT QARG A&7

58) Amruth collected Rs. 100, Rs. 50 and Rs. 10. The ratio
of these currency notes are in the ratio 3 : 5: 7 and the
total value of currency is Rs. 4960. If the number of Rs.
100, Rs. 50 and Rs. 10 currency notes are reversed, then

what would be the new total value of currency in the bag
of Amruth?

A) 4960
B) 7840
C) 6480
D) 8000

58) 2iF]e Rs. 100, Rs. 50 99° Rs. 10 Q°g2 @il 92 (9I196ea
6919 3:5 1 7 AQ4IR6R 28 99° AR (919 @4 Rs. 49601
Q@ Rs. 100, Rs. 50 \9&@° Rs. 10 €9IQ 2gAIe BRGIQ TN
6068 UYERN MITER EEG FMYQ QOF AR 9 98?

A) 4960
B) 7840

)
)
o Techofworld.In

D) 8000
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54) @a& QSR M.QALG ¥ 6.41.9Q AQAIS 18 Ye° 6AAIFTQ
GOaR 288, 6669 Q@6 Q°GMIQ R.A1G| 1e° §.41.G KElIFEE

A) 36 99° 16
B) 72 9g°4
C) 36 &~ 4
D) 144 «e° 16

55) If (x+5)? = 100, the possible value of 'X is

A) -15
B) 15
C)-5
D) 10

55) 4@ (x+5)- = 100, 606@ 'x'Q AAIQY FJAY 6268

A) -15
B) 15
C)-5
D) 10

56) What is the side of a square, whose area is equal to
the area of a rectangle whose length is 20 cms and
breadth is 5 cms?

A) 15 cms
B) 10 cms
C)5cms

D) 20 cms

56) 99 Q9 QITIQ 6AGTR 20 646 6564 8 5 67 gg §88 99
2IACENGN 6TGTR ATE TR, GITIQ §IF 6966 6297

A) 15 69
B) 10 6ad
C) 5 6a8

D) 20 s

Techofworld.In

57) If set A has 3 elements and set B is a null set, then
how many elements will be there in their intersection set?

A) Three
B) Two
C) One
D) Zero

57) 08 696 A @ 3 § QQIQIQ 218 6 62¢ B 4@ 9IIR 69, 666@
6AAIRG 685 64060 6m6015 AURIS A7

A) 3@
B) g@
C) e
D) ga

58) Amruth collected Rs. 100, Rs. 50 and Rs. 10. The ratio
of these currency notes are in the ratio 3 : 5 : 7 and the
total value of currency is Rs. 4960. If the number of Rs.
100, Rs. 50 and Rs. 10 currency notes are reversed, then
what would be the new total value of currency in the bag
of Amruth?

A) 4960
B) 7840
C) 6480
D) 8000

58) 2] Rs. 100, Rs. 50 4&° Rs. 10 Q°g2 @mll 98 (919609
6919 3: 5 7 A9QI06a 28 9e° AL 1919 FRY Rs. 49601
Q@ Rs. 100, Rs. 50 9&° Rs. 10 ¢J9IQ AGAIS BAFIAQ SN
606% ZFOR QIGER 6RER MR GOF A QL T AE?

A) 4960
B) 7840

aoso  [echofworld.Iln

D) 8000
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59) A square with a side of 2 m has a circle inscribed in it 60)
and in turn this circle has a square inscribed in it. If this

square also has a circle inscribed in it, what is the area of

the second circle? (Take I =22/7)

A) 11/14 sg.m

smessem [ @ChoOfworld.In (2o

C) 22/14 sq.m

< +

D) 1 sg.m A B C
QAR TR X ARy QG 9AIe 266 |

59) 2 fica QI4 A8 641G QE6RE S6a Y@ 98 2F0 62108
99" @ 9@ 966Q U9 966aE 2TE 621aF | 99 @ aeeag A) 55
CRIEQ IR 98 UGE 6LIRE 606 FOIK QRACILTR 6R66? B) 35

R C) 40

N =22/7 @6 &2

( 2) D) 50

A) 11/14 @4 fieq
B) 11/28 g4l fiea
C) 22/14 Q4 Giga
D) 1 qdl dea

60)

Techofworld.In

(3x +20)° / (x +20)°

In the given figure, the value of 'x' equals to

A) 55
B) 35
C) 40
D) 50
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59) A square with a side of 2 m has a circle inscribed in it 60)
and in turn this circle has a square inscribed in it. If this

square also has a circle inscribed in it, what is the area of

the second circle? (Take I =22/7)

A) 11/14 sq.m ‘

szesam | @Chofworld. N exe20r /ix+20p

C) 22114 sg.m

<

D) 1 sq.m A B C
QRIS G6R X' A Y QEe QAR 26T |
59) 2 fic@ QI A58 6615 QG688 GIE6a 1@ 98 R0 62108 A
e° 9@ 9A NIER ¥e QU6AQ UWO 62IRE | 94 1@ eFsag ) 55
CIRIER IR 98 ATO CRINE 6069 FUI QORISR 69657 B) 35
C) 40

N =22/7 QIeca &2
( 2) D) 50

A) 11/14 a4 dga
B) 11/28 od figa
C) 22/14 <@ fiea
D) 1 qdl figa

60)

Techofworld.In

(3x +20)° / (x +20)°

[ -

In the given figure, the value of 'x equals to

A) 55
B) 35
C) 40
D) 50
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Section 7 - Paperll-Social Science

61) Which among the following statements is the
CORRECT explanation for the term parallels?

A) Parallels are lines of longitude
B) Parallels are lines of latitude

C) Parallels connect the north and south pole of the
Earth

D) Meridians are also known as parallels

61) GORYC SBYER AIQ 64 @BF ANIVERS ANNER
Q0K 22 gel Qg ?

A) QIESI 6081Iq AAIREQS GRIKN
B) aiara sasiq 9l 6%l QLIdig

C) aqimeasi QUL eaasrg 6 @ld6ngq 6aIsl @dad
D) cai@e 6qdiiq a1 AfIF 608 GRILIN

62) "Suspension of fundamental rights during emergency"

of the Indian constitution is borrowed from which of the
following countries?

A) United States of America
B) France

C) Germany

D) United Kingdom

62) QUG ARIFER ‘FRIRINE VREGER 6FIRG ZRRIR
QG FIRYE 624 F1Q QIR ARG ALIIRT?

A) geaIg 2I6aaaI
B) gig

C) edian

D) gaausy

63) Jhabua district of Madhya Pradesh is a famous

example for which of the following resource conservation
efforts of man?

A) Prevention of soil erosion

B) Conservation of mineral resources
C) Reverse land degradation

D) Conservation of wildlife

63) AUgeQda XIQAUIFRI, AZFY FIAI AT 2AULIR QSIS
699 AYRR R AR G124 26T

A) aal 2e80 FARAE
B) ¢idiz agne arage
C) 21080 @8 2e8ad
D) Qg il a°088

64) Which of the following options refer to the composition
of the upper layer of the Earth’s crust?

A) Sima

B) Oceans
C) Sial

D) Continents

64) 6LV AUQ 7RG AR AR 2Q?

A) Qe

B) aziaiga
C) Jaim

D) agiead

Techofworld.In

65) At which point on the Earth the distance between two
meridians is maximum?
A) Poles

B) Tropic of Cancer
C) Equator
D) Arctic Circle

65) QAR 609 A9EQ QG YRR 6a% F1IEA 200! ATRIR
2657

A) 609

B) oqoqi@
C) 3ge 6asll
D) a@asng
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Section 7 - Paperll-Social Science

sane v

61) Which among the following statements is the
CORRECT explanation for the term parallels?

A) Parallels are lines of longitude
B) Parallels are lines of latitude

C) Parallels connect the north and south pole of the
Earth

D) Meridians are also known as parallels

61) AUAYe @B9ER RIQ 6R QBT AAIVERS QIR
Qo] 2 Qe QgE ?

A) QI 60%HIQ AN aIaid

C) QrIg6ad gAL1a 2896AQ 8 @Fd6AR] 6416 R

)
B) a@re asiq anIa 60¢ QRIQN
)
D) ci@a 60diig fa a8 609 gLIKN

62) "Suspension of fundamental rights during emergency”

of the Indian constitution is borrowed from which of the
following countries?

A) United States of America
B) France

C) Germany

D) United Kingdom

62) QESN JRIFER "FQVRIRIE AR 6A1RR ZRIRIG
R FORYS 604 R AIRIR AAXIRQ 2QIAIRE?

A) geQIg aicaaa!
B) gig

C) sdiia

D) geaisy

63) Jhabua district of Madhya Pradesh is a famous

example for which of the following resource conservation
efforts of man?

A) Prevention of soil erosion

B) Conservation of mineral resources
C) Reverse land degradation

D) Conservation of wildlife

63) AUgERER ®IRAIRRI, AGEY T QRS QYIRS
600 ORA IR FGGY QLIS 26S?

A) qael 2080 FaIRad
B) iz agme Qe

C) 2le8e of 2euad
D) e&ugidn a°a@d

64) Which of the following options refer to the composition
of the upper layer of the Earth's crust?

A) Sima
B) Oceans
C) Sial

D) Continents

64) GelIR F1AQ 6295 PRAR AAR IQ?

A) aiq
B) aziaioa
) JaiR
) a1

O

\

« lechofworld.In

D

65) At which point on the Earth the distance between two
meridians is maximum?

A) Poles

)
B) Tropic of Cancer
C) Equator

D) Arctic Circle

65) QUQIR 6% AGEQ QAT ISR 6a% FEQ QAe AR
2657

A) 609

B) aqeqid
C) Qge easil
D) eaeeng
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66) Most sophisticated tools were found in which of the
following ages?

A) Mesolithic Age
B) Paleolithic Age
C) Neolithic Age
D) Modern Age

66) 2AIE QRFE ARSI FIREE AUQ 634 QOI6R AQERI?

A) 6r6QIR2R 99

Cc

)

B) gaiaiie g9
) @QITIE ol
)

D) arfa g9

67) The boundary between the troposphere and the
stratosphere is called the

A) Stratopause
B) Mesopause
C) Tropopause
D) Exopause

B7) C6RAQ 8 FETRARQ Q AT ALGY K QRPN ?

A) 81631399
B) srica@an
C) g6a@a
D) gsgi@0a

68) According tothe Indian Constitution, what is the
maximum number of members in Lok Sabha who
represent the Union Territories?

Techofworld.In

WtsApp/Call- 8596976190

68) QLI AR AFAIEA EAINAR 66 66 ERIFGT AXAY
Q°0 QURY 691G @ oaQ @GIF?

A) 18
B) 19
C) 17
D) 20

69) A change in the constitution can be brought about by

a simple majority, in which type of constitution among the
following options?

A) Flexible
B) Rigid

C) Simple
D) Difficult

69) F6QIVTIAE FUQ 69 JRIQ AAMIFER 6997 IR ARIGE
QY SIRFGI FIRI AAIGER FRRES 2GIQIRRS?

A) eCQ10
B) qso
C) aaw
D) @%@

70) Which of the following words in Sikh means the path
of righteousness and proper religious practice?

A) Granth
B) Gnyan
C) Dharm
D) Sangh

70) o60 GRS FAUQ 664 §0a 28 AIFNGI 99° 6F6 UIFR
aQuIa?

“* Techofworld.In

C) uel

D) a°g
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66) Most sophisticated tools were found in which of the

following ages?

A) Mesolithic Age

68) QURGIY ARG ZGAIER EMGIR 6Q 6R6T AYRGF A9y
Q°g QInY 689 g IEFYQ 9R2IE?

s racamcsge 1 €CHOTWOTrId.IN »1s

C) Neolithic Age
D) Modern Age

66) 2RI IRGE ARSI FIRYS FUQ 679 Ya6a Fgaml?

A) sasaimeR ga
B) gaiciaig ge
C) aeaigig g4
D) ziy@e gel

67) The boundary between the troposphere and the
stratosphere is called the

A) Stratopause
B) Mesopause
C) Tropopause
D) Exopause

67) 06039 8 WEERAQ Q TG ULRY K€ GRIPNT ?

A) |I60132a
B) cacai@aq
C) geaidea
D) weqi@aq

68) According to the Indian Constitution, what is the

maximum number of members in Lok Sabha who
represent the Union Territories?

A) 18
B) 19
C) 17
D) 20

B) 19
C)17
D) 20

69) A change in the constitution can be brought about by

a simple majority, in which type of constitution among the
following options?

A) Flexible
B) Rigid

C) Simple
D) Difficult

69) F6RIBFINE PR 679 IR AAIFER 6RRF IR ARIGE
QoYY SIRFG TR AAIFES IRLES AGINIRNITG?

70) Which of the following words in Sikh means the path
of rightecusness and proper religious practice?

A) Granth
B) Gnyan
C) Dharm
D) Sangh

70) S46Q SRS (R 699 d0Q 2 UFT 99° AP dIfe
2QuIQ?

- Techofworld.In
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71) The famous astronomer Galileo Galilei was born in

73) ARKIGR6R 200 @FRIR FIem J6a &Ql 9oq 2derom 28R
which of the following countries?

Join Us-

A) France
B) Greece
C) ltaly

D) Germany

71) PORYS FRIQ 6265 ARAGER 624 gal / 3R G8Ie GRIGT
FARGE AUQ 639 639 60 FG 6RALEM?

A) gig
g1
e Im1

m

)
)
C)
)

D) adlie1

72) Which of the following countries was separated from
India as result of the Government of India Act, 19357

A) Aden

B) Ceylon

C) Bhutan
)

D) Burma

72) GORYS FIQ 65Q 694 NIRG AARIATR 2FAA 1935 @
AREIFI99d QUG Q ARGl 62 IQIDEMI?

A) 21699
B) aoag
C) goig
D) adll

73) Oceanic resources beyond 200 nautical miles of the
Exclusive Economic Zone, is the BEST example for which
of the following types of resources?

A) Abiotic Resources

B) National Resources

C) International Resources

D) Non-Renewable Resources

Techofworld.In

FIRYE AR 674 IR ATRA A6IIF I AAITE 26T ?

A) 2659 AR

m

c

)

) QIgEe AR
) 2edienn age
)

D) e91a04 26gIg AR

74) In which year did Subhash Chandra Bose resign from
Presidentship of the Congress?

74) 660 9F UG 9F 6919 REIYI @ AT 99 Q ULGYT
@Geem?

A) 1940

)

B) 1939
C) 1942
D) 1938

75) Which of the following schedules of the Indian
Constitution deals with the Urban Local Government?

A) 13th Schedule
B) 10th Schedule
C) 11th Schedule
D) 12th Schedule

75) Q10918 ARG Q FARES AGIF RIQ 6RAT ALRT AL
AR ATS AYFE 26?

A) 1369 298
B) 100 21998
)
)

C) 11ea 299e

D) 1260 2gqe TeChOfWOHd . I N
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71) The famous astronomer Galileo Galilei was born in
which of the following countries?

A

) France
B) Greece
)

)

C) ltaly
D) Germany

71) GRS FIQ 60AE ARG 624 gRl / gde adic dgie
FIRYO FRIQ 6RF 636 60 T 6TRYEN?

A) gig
B) gia
C) agim1
D) aelia1

72) Which of the following countries was separated from
India as result of the Government of India Act, 19357

A) Aden

B) Ceylon
C) Bhutan
D) Burma

72) GIRYO FRIQ 69Q 6249 KIGS ARNOFA AYFAA 1935 @
JREINY9U QUAS Q ZMGl 62IRAIRAMI?

A) 21669
B) aiomq
C) goig
D) q¢li

73) Oceanic resources beyond 200 nautical miles of the
Exclusive Economic Zone, is the BEST example for which
of the following types of resources?

A) Abiotic Resources

B) National Resources

C) International Resources

D) Non-Renewable Resources

Techofworld.In

73) 921I8068 200 65RIN Fiem U6Q 2R 9o 60 28R
SRS AR 609 ININR ARA ATIPY AQTAE 26T ?

A) 2659 aqge

B) giq9da ame

C) 2ediom ags

D) aQ1a04 26gioN Agm

74) In which year did Subhash Chandra Bose resign from
Presidentship of the Congress?

A) 1940
B) 1939
C) 1942
D) 1938

74) 606 98 OIS 0F 6918 @°69Q Q Y AT Q UGS
@REm?

A) 1940
B) 1939
C) 1942
D) 1938

75) Which of the following schedules of the Indian
Constitution deals with the Urban Local Government?

A) 13th Schedule
B) 10th Schedule
C) 11th Schedule
D) 12th Schedule

75) Q1991 QAR @ FIRYS 290 A 66T A2 AINS
AoRIa AFG AT 26672

A) 1300 2996
B) 1000 299@
C) 1160 2g9e

D) 12¢¢ 299@ TeChOfWO rld . I n
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Section 8 - Paperll-Science

76) From the top of a tower, a ball A is dropped and
another ball B is thrown horizontally at the same time.

Which among the following strikes the ground first?

>

B
Simultaneously A and B

Depends on the masses
A

B

)
)
C)
)

o

76) R G130 QUQ 6915 OR A ARITRI Ye° AFIR ANAER ZIRY

4@ R B AAIBAIR RISER TF ARl 1 629FR AU 676E 926
QA6Q 9GQ?

_ Techofworld.In

A)

B) u@ anoea A 9e° B
)
)

C) egq a6 59q @6a

D) A

77) Surface tension of water is 0.072 N m™'. The excess

pressure inside a water drop of diameter 0.6 mm is (Given,
cosB = cos0° = 1)

A) 72 N/m?

B) 480 N/m?
C) 120 N/m?
D) 240 N/m?

77) 999 QU @198 91 0.072 N m™'| 0.6 mm Q4Id S8 9@
f@ Gg 996 2368 Q1 (99 ,cost = cos0® = 1) 62a8

A) 72 N/m?
B) 480 N/m?
C) 120 N/m?
D) 240 N/m?

Techofworld.In

78) Which among the following microorganisms

produces the immunosuppressant medication known as
Cyclosporin A?

A) Trichoderma polysporum
B) Clostridium butyricum

C) Streptococcus

D) Monascus purpureus

78) AqAQ 626 TFIR ARCEIIRG A IR RFY6RIAETAIS
As T2R @RI

A) gleeRIedl afeaIesn
B) @@Gaq Queeea

C) 6q6q6am4a

D) saipaeq adaea

79) The process by which two or more species, genes or

phenotypic traits undergo adaptation as a pair or group is
known as

A) Structural adaptation
B) Behavioural adaptation
C) Co-adaptation

D) Exaptation

79) 60Q 9T FIKINER §Q Q1 2R GNIT, §F @ gaa! 68T

(6T6RISIATR 695) IR 6LIGI QI 66IF QINER AFYRR 69R 06
QRe2IB, PIRIQ K8 QRIAIN?

A) 8Q00IR 2ILIEAR
B) Geatzaim 219169Qe

C) eal-2191699%
D) «aqieqae
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Section 8 - Paperll-Science

76) From the top of a tower, a ball A is dropped and 78) Which among the following microorganisms
another ball B is thrown horizontally at the same time.

produces the immunosuppressant medication known as
Which among the following strikes the ground first? Cyclosporin A?

A) B A) Trichoderma polysporum
B) Simultaneously A and B

B) Clostridium butyricum
C) Depends on the masses C) Streptococcus
D) A

D) Monascus purpureus

76) 9@ SI1GIQ QUQ 66161 AR A TRISIRI 9S° AAIR ATACH AN

@ 9R) B 2AILAIR QINER TF SR | 629FR ARIQ 6996 GeI6e
prea 9ga?

A) QIRsRIadl aR6aIRA
ws lechofworld.In  Jeeme
B) ue a006Q A 92° B

C) eqeqeed
C) age au6a fea @6a D) srieaqd adaaq
D) A

78) GAOIQ 609 YRS AIRCYYEIIRR A FIFR REIEIAEIAS
A9 TR KF2r?

79) The process by which two or more species, genes or
77) Surface tension of water is 0.072 N m™". The excess phenotypic traits undergo adaptation as a pair or group is
pressure inside a water drop of diameter 0.6 mm is (Given, known as

cosB = cos0° = 1)

A) Structural adaptation
A) 72 N/m? B) Behavioural adaptation
B) 480 N/m? TeCh OfWO rl d | I n C) Co-adaptation
C) 120 N/m? D) Exaptation
D) 240 N/m?

79) 699 959 AIRIFER GR F AR IRIT, §F | geal F6aTE!

(6T6RISIATS 655) 99 6KIS| QI 6QIFT AL AR 69R GI&
QQRIZIE, QITIq K6 GLIKIN?

77) 99 208 QISR 91K 0.072 N m'| 0.6 mm e4id 888 9
a0 QF G06a 809 Q1P (94 ,cost = cosl® = 1) 6268

A) 72 N/m? A) SREAIN 2IR16QRAE
B) 480 N/m? B) Qeadaom ai1e16qQe
C) 120 N/m? C) sal-2101692e

D) 240 N/m?

D) qqieqae
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80) A projectile is fired from the surface of the earth with
a velocity of 5 m/s and angle 8 with the horizontal. Another
projectile fired from another planet with a velocity of 3m/s
at the same angle follows a trajectory which is identical
with the trajectory of the projectile fired from the earth. The
value of the acceleration due to gravity on the planet is
(Given, g = 9.8 ms?)

Techofworld.In

A) 16.3 ms?
B) 3.5 ms?
C) 110.8 ms?
D) 5.9 ms?

80) 5 m/s 6906Q ¥9° 2AQYd WIER B 6RNEeR I e[S
Wy G630 QAERl | 29y 9@ geg 26y 99 6894819 3m/s
6QEIER LR ERIEEa JEMYIQ F6RY ARSI VSR

QS GBS U2l AGAAE F6Q. | 920 GRS FIRQ Qe8I
gmY 628 (99 g=9.8ms?)

A) 16.3 ms?2
B) 3.5 ms?
C) 1108 ms?
D) 59 ms?

81) Virus is usually composed of a protein coat and

A) Lactic acid
B) Nucleic acid
C) Citric acid
D) Oxalic acid

81) QIR ARIFESS 69156 gemel 6 Q 650 9067

A) Quge 2
B) quae 210,
C) ae@a &gl
D) aqeime aig),

Join Us-

82) If a plant is placed in water and kept under sun,
bubbles of a gas is formed. Identify the gas formed.

A) Carbon dioxide

B) Nitrogen

C) Oxygen

D) Carbon monooxide

82) 9@ 6915 28R 9% A96Q T4 F6R QVITN, U@ GHIAR
6IORIGER 98 94 | 69T SHIAT @4?

A) 2HIIc),

B) gegieeie

C) aggie

D) QIaq A6RIgIRe

83) In which of the following ways is the decomposition
reaction represented?

A) AB + CD — AD + BC
B) A+B— AB
C)A+BC—AC+B
D)AB—A+B

83) a6 gBGAl F9PUQ 600 QN6 Jede @AIAN?

A) AB+CD — AD +BC
B)A+B—AB
C)A+BC—-AC+B
D)AB—-A+B

84) A 150 m long train is moving to north at a speed of 10
m/s. A parrot flying towards south with a speed of 5 m/s

crosses the train. The time taken by the parrot to cross the
train would be

Techofworld.In

A)S5s
B) 15s
C)25s
D)10s
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80) A projectile is fired from the surface of the earth with
a velocity of 5 m/s and angle 6 with the horizontal. Another
projectile fired from another planet with a velocity of 3m/s
at the same angle follows a trajectory which is identical
with the trajectory of the projectile fired from the earth. The
value of the acceleration due to gravity on the planet is
(Given, g = 9.8 ms?)

A) 16.3 ms?
B) 3.5 ms™
C) 110.8 ms*?
D) 5.9 ms?

Techofworld.In

80) 5 m/s 6966Q 99" AT NIEA 6 ERISER 9@ 6IASIQ
99aQ F6AY QAT | R A FeQ AR IR 6FAGIY 3m/s
6966Q QAR 6RIEER YYIGRQ TR FAIARLYSI 68AEIYR

QAIgEN GERITE Q8 2GARE KR | Y2 YRR FIREIQ RS
Y 6208 (98 g=9.8ms ?)

A) 16.3 ms?
B) 3.5 ms?2
C) 1108 ms?
D) 59 ms?2

81) Virus is usually composed of a protein coat and

A) Lactic acid
B) Nucleic acid
C) Citric acid
D) Oxalic acid

81) RI90d ARIRESS £9ITe gema @ Q 60 9097

A) QuRe ae)
B) qu@e 2,
C) aaGe 29,
D) aqema 21¢)
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82) If a plant is placed in water and kept under sun,
bubbles of a gas is formed. Identify the gas formed.

A) Carbon dioxide

B) Nitrogen

C) Oxygen

D) Carbon monooxide

82) 9@ 601 AEGY 9% §96a 4AI G67 FFIAIY, I@ GUIAR
ceIcRIgen Q8 99 | 698 NG @417

A) 2RIQRIE,

B) aemiesie

C) ageie

D) Qi9q F69IgIeR

83) In which of the following ways is the decomposition
reaction represented?

A) AB + CD — AD + BC
B) A+B— AB
C)A+BC >AC+B
D)AB—A+B

83) AAA9e gETe FOnUQ 60Q A0I6a 999 @aIAN?

A) AB + CD — AD + BC
B) A+B - AB
C)A+BC—AC+8B
D)AB—A+B

84) A 150 m long train is moving to north at a speed of 10
m/s. A parrot flying towards south with a speed of 5 m/s

crosses the train. The time taken by the parrot to cross the
train would be

Techofworld.In

A)5s
B) 15s
C)25s
D) 10s
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84) 150 m g @16 9@ 68 10 m/s 6946Q ARag JIGE |
QR4 219 5 m/s 69968 AR 9@ G2l 659y 26T K08
6979 2599 @89l AR 92l FI9l FUVIRYS AN, 6208

A)5s
»iss | echofworld.In
C)o5s
D)10s

85) The roots that arise from the parts of the plant other
than the radicle are known as adventitious (aerial) roots
that are usually seen in a

A) Neem Tree

B) Wheat Plant
C) Carrot Plant
D) Banyan Tree

85) QUG 60EAN QERER FFY 2R 699 QIRITER PIRIg

21060432 (QIAQ1E) 609 QRIAN QI ARISEGS FORIQ
69Q FI566 GG ICIN?

A) G o
B) agq og
C) qiea 618
D) qea ag

86) Thermal capacity of 100 g of aluminum (s = 0.2 cal/g
K) is
(Given, One calorie = 4.2 joules)

A) 420 J/i°C

e Techofworld.In

D) 84 J/I°C

86) 100 g 2IRfiFeaa(s = 0.2 cal/g K) Q1Ie 8791 6298 (K4,
e QUeRIAl = 4.2 gRQ)

A) 420 J/°C
B) 42 J/°C
C) 840 J/°C
D) 84 J/°C

87) Read the following statements and choose the
CORRECT option.

(i) Usually cells vary greatly in their shape and nerve
cells are some of the longest cells.

(ii)The shape of the cells may be like disc, polygonal,
columnar, cuboid, thread-like or even irregular.

A
B

) (i) is TRUE and (ii) is TRUE
)
C)
)

(
(i) is FALSE and (ii) is FALSE
(i) is TRUE and (ii) is FALSE
(

D) (i) is FALSE and (ii) is TRUE

87) 07 28909 9eg 8 A0e G978 04 03 |
(i) ARIGEIGE 6RVITRQ QS ThR AWK Gr §F 62IReN @
9Ig 619 620&@ AR0IQ AF)l 6919 |

(i6RIVYERQ 2IQE 62 AR, INIFM, FARIQ, AV, oI @F
QI 2GR 2IRIGG 62IRAIER |

A) (i) 6208 09 6 (i) ceag 0a
B) (i) 6298 @f 6 (i) 6208 ga
C) (i) 6248 0% G (i) 6228 g
D) (i) 6268 @f @ (i) 62e@ 09

88) Which among the following is the microbial control

agent that is generally used in controlling butterfly
caterpillars?

A) Lactobacillus Reuteri
B) Rhizobium

C) Bacillus Thuringiensis
D) Candida Albicans

A R Ra A e
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84) 150 m ¢igQ Q16 99 69] 10 M/s 6Q96Q 28eq LS |
QB8 2I9g 5 M/s 69969 AY 2RI 99 2l 6557 ASTA F08
16629 2656 RAS AR g2 T FRULIRYQ AN 6298

A)s5s
miss | echofworld.In
C)25s
D)10s

85) The roots that arise from the parts of the plant other

than the radicle are known as adventitious (aerial) roots
that are usually seen in a

A) Neem Tree

B) Wheat Plant
C) Carrot Plant
D) Banyan Tree

85) QUIGQ 60RaN FERER Y PR €oQ AR GG

Ae6eddad (QIPRI) 690 QRN Q19 ARINESE BAFRIQ
6QQ 96 69917

A) Gq oe
B) qie¢ og
C) qiga 9
D) e aig

86) Thermal capacity of 100 g of aluminum (s = 0.2 callg
K) is

(Given, One calorie = 4.2 joules)

A) 420 J/°C
B) 42 J/I°C

e Techofworld.In

D) 84 JI°C
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86) 100 g aIRdidana(s = 0.2 cal/g K) Q10e S719] 6248 (9S,
e YR = 4.2 gd)

A) 420 J/°C
B) 42 J/°C
C) 840 J/°C
D) 84 J/°C

87) Read the following statements and choose the
CORRECT option.

(i) Usually cells vary greatly in their shape and nerve
cells are some of the longest cells.

(ii)The shape of the cells may be like disc, polygonal,
columnar, cuboid, thread-like or even irregular.

A) (i) is TRUE and (ii) is TRUE
B) (i) is FALSE and (ii) is FALSE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

87) G¢] @969 deg 8 A0 a8 998 K9g |

(i) ARICEIGE 6RVITRR 2IQE TR AINEA 8 @R 62IRAN 6
Qg 618 6268 AG0IQ MYl 61 |

(i6RVgERa 2IQE &2 aF, INAFIR, AR, AR, G OF
Ql 2GAFIR 2IRING 6TIRCER |

) 628 0 6 (i) 6298 09

A) (i) )
B) (i) 620@ @ G (i) 6268 g
C) (i) 6208 O 6 (i) 6208 gn
D) (i) )

) 62608 Qm @ (i) 6208 0@

88) Which among the following is the microbial control

agent that is generally used in controlling butterfly
caterpillars?

A) Lactobacillus Reuteri
B) Rhizobium

C) Bacillus Thuringiensis
D) Candida Albicans
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88) QA 609G Y@ AIREQIRTIR Faee Weee IRl 90) 9Q QIFEA FRQ B0 5 M AP | CIRE eRRIGa 10 cm2 Q
ARJIGESS RIKIG §ag Foad @TQI6a QIR QAUKN? Q@ 24l QAR | 98 IR GF TR LI 6298 (g = 10
m/s?)

A) QiERIRIdRg gesa

mascecen | @ChOfworld.In »wome

C) aidaq oeErada B) 10- m¥s
D) quidiel 2IndeIQ C) 10-: m¥s
D) 10 m¥s

89) Read the following statements and choose the
CORRECT option.

(i) Lysosomes are non-membrane bound vesicular
organelles in the structure of an animal cell.
(i) Lysosomes contain enzymes that are capable of

digesting carbohydrates, proteins, lipids and nucleic
acids.

A) (i
B) (i
C) (i
D) (i

is FALSE and (ii) is TRUE
is TRUE and (ii) is FALSE
is FALSE and (ii) is FALSE
is TRUE and (ii) is TRUE

=T = =

89) &l e2gEe 9eg 6 Y0 IaT 0AF 93 |

() MREAIBRIC| 628 ER1 FIAI AIRITS 6TITR! @ 2F QLI R
gIdI1 6RAVER 2N |

(i) AINGAICRIF| 60 ISR 2N AL RISRILINEGS, 691TR, AT
8 QIRe a7, AI9e KA AVE |

i) 626& gm 6 (i) 6968 O
) 629@ 0 G (i) 6298 gn
) 6298 @ G (i) 6208 gm
i) 62a@ 0w G (i) 6298 09

C)

A) (
B) (
(i
D) (

90) The level of water in a tank is 5 m high. A hole of area
10 cm? is made in the bottom of the tank. The rate of
leakage of water from the hole is (g = 10 m/s?)

A) 10° m¥s

awme Techofworld.In

D) 10°m3s
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88) GarkIQ 6966 99 FIREGIEUIR GARe W6ee QIR 90) 4@ CI@ER GPA 26 5 M A | OEa eFeIgsa 10 cm? @
ARIREISE JRING §aq FURs @0QI6a QIeTIR @RIUN? e 94l ARl | 98 94IQ GF 6RIEQIR @10 6208 (g = 10

m/s?)
A) QIEYITNA @E5A

masoien | @CHOfWOrld.In #woms
C) qidng gaErada B) 10- m¥s
D) quidiel 2IndIQ C) 10- m¥s

D) 10: m¥s

89) Read the following statements and choose the
CORRECT option.

(i) Lysosomes are non-membrane bound vesicular
organelles in the structure of an animal cell.
(i) Lysosomes contain enzymes that are capable of

digesting carbohydrates, proteins, lipids and nucleic
acids.

A) (i) is FALSE and (ji) is TRUE

B) (i) is TRUE and (ii) is FALSE

C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is TRUE

89) &) @3g@e g 6 A0R TaT CAF 993 |

() MINEABTIC] 62T ER1 TR 2T 6CHCR| @& 2ier Il 9
811 6Q1TEG & |

(i) MREQAIERIF] 60 IGIRA 2N QIR FIEULIREGET, 69157, AT
@ QUGN 27, JI0e FAQIER AV |

A) ) 6298 g G (i) 62a8@ 0w
i) 6298 0 6 (i) 6228 g
) 6298 @ @ (i) 6208 ga
) 6268 0= @ (i) 6268 0w

(
B) (
C)
D) (

90) The level of water in a tank is 5 m high. A hole of area
10 cm? is made in the bottom of the tank. The rate of
leakage of water from the hole is (g = 10 m/s?)

A) 10° m?¥s

awme  Techofworld.In

D) 103 m%s
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Question Paper No: 53608 54

Answer Key
TEgnpiNppe.In

2. € 32.D 62. C
3. A 33.C 63. C
4. D 34. B 64. C
5. D 35. A 65. C
6. A 36. D 66. C
7. B 37.D 67. C
8. C 38. A 68. D
9. C 39. A 69. A
10. B 40. A 70. C
Ll 8 4dl. A& Il E
12. A 42. D 72. D
3.6 4. € 13 €
14. A 4. A 74. B
15:.0 45..D d5. D
16. D 46. A 76. B
17. C 47. B 77. B
18. A 48. A 78. A
19. D 49.B 79. C
20. C 50. A 80. B
21. C 351. A 814B
2. X 352..D 8200
23. D 53. D 83D
24. C 54. B 84. D
25. G 55. AR5
26. D 56. B 86. D
g/. | 57. D8/, A
28. B 58. B 88. C
29. D 5. C B89. A
30. B 60. B 9. C
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